1)
A
Ney  SMALL— Sie M4

CREQUE

Low

j’SATURAT/OAj

a—-I "‘g '

’%:s
DC . \/DS (L(C)uc
AL o O

e

DWW% ) (Ves =2 2 )

>> /LC_/M,.@
DC( s mall Szyq/né«./)

V. \/mu) (/4/\[/9_9
ADD S Z. —{—I —‘%,< s ¥

GS

TANCE (9,,,,)
NS conlDVC
A TRA

=K B (V@,S ~ Vrfm)w(/ + | Vos>
= D —
gm T 2 /v_-,:

MDC A 4 ;ﬂj/(:'f>
(MW/ 475;@ :O/MMZ?/D

p = Algs
AZD = ?’m
AZD = éd ; A.c. 504“{({,25
A &s = %5

5& é(:ﬁ/m 76’25



FOR >\v0_5-<</ )

G =B (Ve Vows ) = /28T,

Lot [FRe SmAk) SteNAl CIRCuT

cwis]

Sma,é(—-,¢<7/wa,/ madel o a [st oroles (,/m'eaﬁ
WM mm-—/&ua/y M&M

/Lv/Q Ups 2wo /ém%e => nou-tdimea)y efects
AlodTALT ,  parrtorced

B Ropy TRAYS coNDOCTANCE (VSB %Oy)
Vi (Ve ) = Vowuo + ¥ [ g7V — V28

— = 3
Frmb DUy

/VS‘J ID pry V
| L [) R bs
— -2y I Vruw A= w
=) v-rH N 3 %-A

= E‘LM B/ . . C7¢§
2 /24 oo

%m ? (%0$7§,O.5>

°
U
#5




W2 A
Za( - g’m Vg‘s ﬂ?”»é (25

& D
4.
-
b V24 s
-v-ﬁ @~’5¢3 % J-é \-,\
o \
C
—_ N
“ — (
8 \
{
C L nput gesfsw = O (Loo L)
éae‘c_, —! E
=Y (
e ad )
D. Qotp vt Resistarnce (rs Y - —-
! .
e = Ilp )z_
O - - - a—
- ﬁ '75 GS THH
QU.DS %5_, Ip 2

/ACIDA C,\VDS<</)

Noete ! X oftm W by ‘lé’% M;/{?_N(%)
A= o |
h

o = ! - Va
Tp\ —

E. VorrAge Canw  (Ugy=0)

~ D Ui
Zj——s = ?Z—WE: —Fm 1o
7> 7



W

jl:‘- TR/O«DE oV A//\/EAR ?EGZON
To = B LNVgs~ Vruw ) Vos— Vo /2

Qa-é/o wt- ResitstHnce

-

ch — ,_3__3_0_,/ —.:;-75[\/&;—(41,“-\\(05]
s s, 2,
/O\c# =

{
55(1/6-5‘ Vs ™ Yos )

For Vps << V- Vipg

RchL= ] — = __1L

>B(VG<$~ VrHH> %m

iy SUL’)’I"HKETSHULD ( Wear _IZNueRS‘(oN)

& (Vos = Vereim )/[NO':éBT)

— W/
I:.o = T, ¥ <

=

EF

: 5( s — Vww ) /KO- 45T)
ZD = Ibo B




w2 =8
I I1CH FREQUENCY SMALL SIGNAL

& < D

Short DC V seurces |
Open Dc I~ sevrces,

(Pol -
<
f?"( I =7 D
0
A Y,z
S




Ugs = Ug d —
P T R (G G + G

7=
Assume  that /20(/ =>> / %s \/“')CJ"(/

( lee&/‘élnrvvy% n%f‘%)
Then 1y = Frotfs
Hmo

() = Zd .
I E3 ) g R (GutGaripd)
FeoR /Qé =, ?m (] = 7»10

9’"0 = /ou fref. ﬁn,..,.

CUOTOFF FREQUENCN

7716, —,[W W“éf/ﬂ /_;‘;_/ / :_/ ém'-;i/@tuﬂcnf
A—é—/{—/.(/) 4550;««:.‘7,
.d o %””?ﬁ" >> /jucaa,é(w /

( Nt 5;{%4 MW)
/;‘i/ /Jw<c&4+&c +%J)// /

27—( A-l» f,-f(’r{) /

4
.[\H
~
[




/O
Cﬁ,ﬁ > > Cﬁ'l P Cﬂ'o/

27T Cas
T"n  sadoradion %_5 = Z w.L. C,;

” (Tbte 5./)

Fro = Lol W (Vos Vo)

/—['T' — —‘-3-4)_0____ (\é»s“v,-H“,) /—“—“> Minimom L

4T [* for max ‘CT‘

1.2 Termabre Gjete
% ) :[; :-&%}?(Uay“’/rmv)l
V

TH
A LT)

Wm %ﬂ% / M/‘t‘h\/
7 C Vruu = -'L[ h—%j(é[;"_-_#“ = = 3ovo L
HN c

= =0.003
L

(T) ) Tm= sanCox ¥ Ues=trun)®
N = To(T) G T

- -5
o (T) = «u (7;)(%:‘)

F-‘nce/ 100e

I:D/‘\ Vos B pe _sve
(1) ~
V;;d /// Vg T ae TV
L , .

T

0D ¢
016 048/ 1.0 [.L ‘/6'5




